2022 SER BATRMFFE RS

BT A L T AF s HM: 202341 H5 H
T %t%%ﬁ@%ﬁ@%&?ﬁ&?m&%%t%@%%zﬁﬁ%ﬁk,ﬁﬁﬁ
LA EFREDT 3000 JIF, SEPREEAEFAREST 1500 Fi T
Mk 2022 SR RAETE, NIERE .
AT HAH HBRE SN = A RS, R ES aFE R
JESI5H | SO NOx. iR HALED. A EREAEY . Fik
WBiaTE | . S (BLHCLHD. Mg 22T . BHSUES EENTHIEZ
fitis HEO | AT AR AR UL .
REH | Akt 1 AN HLUR S HER T .
D3R | BHAHSUR S P BRI . SO NOx N E S, H A1 W
SN 1 IR, TGRS MM 1 IR/
BRI H | TiH ARG K G — B AL BEER S 10m3/h 15 /K AL BE e A B B A T
FEE YIs a1 ﬁ&ﬁ%l
P iy HEROT | AEPE R AR AL BERE /7 15m¥/h “ B+ 2 R UTIE " T 2K Kb 3
B 5 A ﬁﬁﬁﬁ,ﬁﬁ?ﬁgiﬁ,$%ﬁo
o F3E | s KRR .
AT H B EEONHUE R RS, S R TG 70-110dB(A), £
WEFE I | B B T e U R A T %, AR 7 IR S o g R P A )
it B, AR PR AT B Ak S -
T H e i AR 1 IRIZE
4i$§f $ﬁﬁﬁ%%%iﬁ%$ﬁﬁﬁ\ﬁ%ﬁiﬁ#iﬁ%ﬁ@&i
T Fﬁﬁ¢#$%%ﬂ,ﬁ¢$%ﬁﬁ&%ﬁm%ﬂ%ﬂﬁnﬁﬂ,
— DU e FE S 0] A T OB T B, Mvkis YR WeE S e el o 7
. [, PR AL AR S5 H R TR = [T
SRR
77 ZEH5E Ak 2022 4 1 AilE T BAT IR 7 SRl T B XK F .
BAT1E L
Al 28
P H il e
i;gg JEHES{R
Ak | AR N
5 MEM T | Ak 2022 FEAEREF, RIEFRE,
FIFET | Bk 2022 4F44E R BEAT H AT M
TERI T
(KA
W R

B ERD




2022 FEF TR

N B s
;Z;:t N iﬁi Sl | IS | Zr']jﬁ;
7 i | SR PR, WS I | AR R PR IR
Gt o,
& it
WURLY) 0 2k 0 - -
SO 0 2 0 - -
NOx 0 2 0 - -
- SAD %’ﬁ&ﬁ%é‘.#@ FL 0 2K 0 - - .
s Hg o | wmAHAAEY W+ 1k 0 2K 0 - - 1%:
~ (DA00 | #HEHAAY | fEZ | FE| 0 2K 0 - - I
D B e 0 2K 0 - -
=i N
;MM?JF; PLHCI 0 5 0 ] ]
s 2 R 0 2K 0 - -
- 1#) 7 0 1K 0 - -

g M R el A N NS N N A
o 3R | A 0 1R 0 - - 7
a4 7 0 1K 0 - -

L4 él‘Eﬂ gk 0 4K 0 - -

TR gk 0 4K 0 - -
e él‘Eﬂ gk 0 4K 0 - -
TR gt 0 4K 0 - -
o él‘Eﬂ gk P 0 4K 0 - -
TR gt 0 4K 0 - -
s E\lzﬁﬂ I 75 0 4] 0 - - .
1 Vil‘ﬁﬂ e 75 fI L%/ 0 4] 0 - - {i
sul B[] W P w2 0 4] 0 - - 7
TR [F] W 75 0 4] 0 - -
641 /- [A] Mgk P 0 4] 0 - -
TR ] W 75 0 4] 0 - -
— él‘Eﬂ gk 0 4K 0 - -
TR gt 0 4K 0 - -
o él‘Eﬂ gk 0 4K 0 - -
TR gt e 0 4K 0 - -




AR LA -
Lo FEBEAS I R A7 PR BRI B BSAT B
2+ AN A ARV IR B R A AN IR ECE HTE
3. EEEAREEE SR A REORE
N o SIVA AR V€ i NS

A SR B I B A K
1 IR//NES AR A I =R EX 24 UK
1 {%/2 /I S DAL I IR B =R X 12 IR
1 U/H SR DAL I IR =R X T R
1 I/ S N M = A R X T I
1 /% A N I = AR P X T IR
1 /A S N B =2 I
1 /4 S NI =1 X




